" Quadrilaterals and Polygons REVIEW Name k%(}/ Date Period

(\ Solve for x. The figure below is a parallelogram:

| §0 '(#0’10 s*io&s~o’2>
[g0-2 = 360

) 1. 2.

’ Poxt4=is

et / Z: 45 +105435+Ixt0= 360
X=
b / ' Ix+ 288 =360
Ix=7L

Solve for x. The figure below is a parallelogram: @

2¢7 419 =340
[Ix =95

(x=5“z

D C ' 93 =

Solve for x. The figure below is a trapezoid:

idsegmant = § (Luse 14 ise)
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Find the measurement of the missing angles indicated for each trapezoid

meS é 50 </7
msQ ' ' 5
msP 65 ’

Find the indicated angle measures: 7y 1+36470=23b0

8. 2x = A5 127
| X:'Q,? msB

mesD 'Q;

! RH = ["J—D;Zi"

: Z
(2420= RH

RH=Jsylh

10. The perimeter of this kite is 116. Find x.

5¢ +2x =116

} X:gb]
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11.

FLYEisakite with FL =LY
Find w, x, and y.

12. Use distance and slope to verify whether parallelogram below is a rectangle, rhombus, or a
square. 2

] _ DE= 143275
EREEE EF=2%(% 1)—1-;; =2J%

FG=113=J70

DG):Z?"LKQ:]E};

i 2 My = 3// Mo 1'7)7

M= mEF=f

13. Find the measure of one interior angle in each polygon. Round your answer to the nearest tenth
if necessary. n=4¢

14. If the sum of the interior angles is 2340°, find the number otsides\for the polygon.
S=4340 234p=] on=3(0D -
2402 2O

Sel) e




15. If each of the exterior angles is 30 , find the number of sides for the polygon
J » 7 . S‘wgf)

16. If each of the interior angles is 135°, find the number of sides for the polygon |

mj/ 1900 135 go(n-2) [ 135n= iSon-3¢h
) T AT | 3o M

17. Find the other endpoint of the line segment with the given endpoint and midpoint. -
Endpoint: (8, -8), midpoint: (5, 3) - 9 -¥ ‘f jh

18. Solve for x: e

N6 ISO(4) = 720

130° 130
£90° 704— I%D[.g) +129+ X T,;Z)b |
X+6pv =20 [ X2(207
130° 120
19. In rhombus DLMP, DM = 24, m«£LDQO = 43°, ' a} OM = | ‘,2,

and DL=13. Find each of the following. v
i 9
b) msDOL = 70

c) mzDLO = Lf? ’

d) m/DML = 43°

o op=_ |3

a) m«1=54° find mzs2.

3¢°

b) If XT =2y -3 and US =32, solve fory.

XT+XT=Us

2 (..’).j -3) > 32
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21.

In OJKLM, what is the value of msK?
o

ek - 13)°

F 15° H 65°
G 57° J 11860

iEx-B3+Pxt) =/ PO
LA4x~nr =] F0
>4x=|{F2

22.

In kite UAVWA(, m2 XUV = 84°, and
ms WX = 68°. What is m2 VIAX?

I3 4176+ 24+ X 3o

23.
GE =(5x + ;/a‘nd DF=8x-7.

24.

What additional information would allow
you to conclude that JKLM is a rhombus?

_F JK||\ML and JM||KL.

H JL and MK bisect each other.
J J=MK
25. 26.
In trapezoid PQRS, if ¥X is the Which is the best name for the
midsegment, what could be the quadrilateral with vertices at (2, 2),
lengths of PQ and SR? (5.-2), (1,-5). and (-2, -1)?
£ [ Ise Q A parallelogram C rhy ba7
x|—24em Ny Brectangle ( Dsquare/ >, o
J’L[%E \“ "‘“AB :34«(.{'«5
ol 2
F 4cmand 8 cm A fCize &
G 9cmand 15 cm
H1 31 cm

'J 18 mand 30 m )




If CDFG is a kite, find each measure.

28.

2RYEF+UTc L0

43+

O

x=45.28
31. 32.
- 2=
A . o
M N\ﬁ\ Xe= §4.4
Bx 1 3.2

(71 ;’(ZKTQX-Q-Z‘ z)
1)« 5’x-}«)»é

33. o
“a) meWYX = 45

vz SV=

c) meWTZ = ?0

d) Xz= é




